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emd the following:

a.) Identify whether the sequence is arithmetic, geometric, or neither.

b.) If arithmetic or geometric, identify the common difference or common ratio.
c.) If arithmetic or geometric, write a recursive rule.

d.) Write an explicit rule.

e.) Find a,,.
S-% -1
11 1 1
1)5 2-1,-4,-7,. 2) L= —,—,—— s
) L9277 627125 Nevthe ’
g rtHnMC*"( \

B e

&
2 5, - 15745, - 4)1,8,17, 28,41, ...

gy | A Ran 013

- . =
(& é’omcm @a - +¢ =) -

@ ; =B ' | Yo+2btc =&

(OW =

‘ 3 4 i ; 28 ,:. g TR .;‘ - .Y Ml P ‘A X T ‘ ot (.V‘ ™ ‘.( . . : “J
4.) Find the first 55 terms for the series: 4 +11+18+25+... S = 55 ( L, + _Ix 3 )
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5.) For thegwen series, 105+111+117+..., find which term gives the sum of 6336.
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8.) Write the following in summation notation: 5+10+15+20+...+60. (™= 5t (a=9)
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9.] Determine if the sequence converges or diverges. If converges state the llmlt.
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10.) A runner begins training by running 3 miles one week. The second week she runs a total of 5 miles.
Th.e third wee

k she runs 7 miles. Assume this pattern continues. 0 = 42 ( a -\)

the end of the tenth week, what will be
b) A* o ( 3+a))
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11.) Use patterns in Pascal's Triangle to complete the next row,
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" d a sip]ify the binomial: (2x+y)
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5.) Findhie fifth ter
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